External Hinge

External Hinge

4648
r e\\
e
—tl-.l H'e
15«
E
£
&
A
o d N o
g |@| s
L]
]
6.0
(M6X6 Hexagon bolt)
M6 washer
08/@10
'd I‘_I'I .
ol 2 o
§ | TN e
17.5 3.0

Ts>1.5

180° hinge SUS 316, pin SUS 303

Panel Thickness SUS 316

Ts=1.5 4648-30-632
Ts=2.0 4648-40-632

4652
NEW
26.0 \0
= @
2.0 M6 Cross countersunk 50.0 <
()
screw 250 g
— =
g _ﬂ/ M6 jam nut N A |
V 1 P FL
w _— H—] w
@® N N &a
’_\[\ g o o
o
| T =
w >4
o

Stop screw(M6X8)
9601-M608

180°hinge zinc die, m.s. zinc plated pin and brass washer

Black Textured Powder Coated

Zinc Die 4652-1000-40

NEW

&)
W Saftey nut M6

% Countersunk

screw M6

>33 325
19.3

Pz
-]

25
IS
i
50
25

8
2

Vibration proof screw

180°hinge zinc die, m.s. zinc plated pin and brass washer

Black Textured Powder Coated
Remark:

Zinc Die 4652-1020-40 The components need to order seperately




